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Chapter 5: Thermodynamic Processes
and Cycles

5-6) This problem examines the Rankine heat engine introduced in Figure 5-5. Saturated
steam at T = 250°C enters the turbine and the condenser operates at T = 40°C.

A) Assuming the turbine is reversible, give your best estimate of the efficiency of the
cycle, and indicate the quality of the stream leaving the turbine.

B) Assuming the turbine has an efficiency of 75%, give your best estimate of the
efficiency of the cycle, and indicate the quality of the stream leaving the turbine.

C) Find the flow rate of circulating water needed to produce a net power of 1 MW
from the cycle with the turbine efficiency of 75%.

Solution:

A)

T] _ |Wnet|
HE " 1Qaddedl

Set an entropy balance around the adiabatic reversible turbine

d(M§)= M Sin — MoyeS +9+S
dt inYin outout T gen

Cancelling terms

~

Sin = §out
Find Soue

(Sin) > Saturated Water vapor at 250°C ->6.072 klg(—]K

R K]
Sout = 6.072 kg_K

Find quality of mixture leaving reversible turbine:

Sout = 6.072 kZ—JK = (1—-¢q)S, +qSy

At 40°C:

S, = 0.572 i; Sy, = 8.256 LN
kg K kg K

q=0.716
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Chapter 5: Thermodynamic Processes and Cycles

Set an energy balance around the reversible turbine

%{M (ﬁ + V; + gh)} = My, (ﬁin + % + ghin) — Mgyt (ﬁout +

Wee + Q

Vou A
8t gy ) + Ws +

Cancelling terms
0= rhin(ﬁin) - rhout(ﬁout) + V.VS
Find enthalpies of the inlet and outlet stream using the steam tables

H;, - Saturated water at 250°C 92800.911:—;
Hour > Water at 40°C and q = 0.716 >1889.7 1‘(‘—;

We oo k k K
Wsturbine _ 10897 1 _ 580099 = 91129
m kg kg kg

Find Qc using energy balance around condenser

d M(U+ v + gh
dt 2 8
2 2
. 5 Vin . 5 Vout H H
= mj, | Hip +7+ghin — Mgy [ Hour + 2 +ghout + Wg + Wgc
+Q

Cancelling terms
0= ri’lin(ﬁin) - ri’lout(ﬁout) + Q

Hin> VLE mixture at 40°C with ¢=0.716 >1889.7 ;J
H,,. > Saturated liquid at 40°C 9167.5:—;

Qc k] k] k]
—=1675—-1 J—=-=1722.2—
o 675kg 889 7kg 7 ke

Calculate pump work using equation 3.77:

Ws pump

~V(P,, —P;
Th ( out ln)
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Chapter 5: Thermodynamic Processes and Cycles

Inlet and outlet pressure are saturation pressures at 40 and 250°C:

P (000100m 1) o7 - 0073m ber)(5522) (38) () Gy) = 40 2

Energy balance around whole engine:

' ' W, Ws turbi
%4‘ %4‘ s,p.ump + S,tlfrbme

. m  m m m
k
W _ 26294 1
m kg
|(—911.z ll{‘—é) 4 (4.0 l‘j—é)|
Nyg = N = 0.345
(2629.4k—)
g

B) Now given a turbine efficiency of 0.75. We calculated this entire problem based on
the assumption that the turbine was reversible, in other words, an efficiency of 1. The
boiler and pump conditions are unaffected by this change. The lower turbine efficiency
means less work is removed in the turbine and more heat is subsequently removed in the
condenser.

_ Ws,actual

T]t i -
urbine
Ws,reversible

Ws,reversible X 0.75 = Ws,actual

9112k] X 0.75 = 6834k]
. kg . - . kg

Find efficiency of the cycle

(-683.412) + (402)|

<2629.4 ll:—l)
g

N{.E.

Set an energy balance around the actual turbine

SM(T+ S+ gh)} =ty (A + 20+ ghyg ) = titoue (Foue + 22 + ghou ) + We +

Wee 4+ Q
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Chapter 5: Thermodynamic Processes and Cycles

Cancelling terms

0= rhin(ﬁin) - rhout(ﬁout) + V.VS

. W
Hout = Hin + F
~ K] K] K]
Hout = 2800.9k—g - 683.4k—g = 2117.5k—g

Water at 40°C and 2117.51‘(‘—; > g=0.810

C)

1kg o 1 x 103KJ kg
secC _
IMW (679.4 k]) MW < > =1.47

5-7) A refrigerator runs on the vapor-compression cycle. The boiler operates at T=265 K
and the condenser operates at 305 K. The compressor has an efficiency of 85%.
Thermodynamic data for two different refrigerants is located in Appendix F.

A) What is the maximum attainable coefficient of performance for Freon 22?

B) What is the maximum attainable coefficient of performance for refrigerant R-
422A?

C) Besides coefficient of performance, two considerations in choosing a
refrigerant are price and safety. Do a little research on Freon 22 and R-422A and
comment on their suitability as refrigerants.

Solution

A) Set an entropy balance on the reversible compressor

Cancelling terms

Sin = Sout

The condenser operates at 305 K, or 32°C. From the figure, the vapor pressure
corresponding to this temperature is ~13 bar.
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Chapter 5: Thermodynamic Processes and Cycles

The inlet to the compressor is saturated vapor at 265 K, or —-8°C. Follow the line of
constant entropy from this point up to the pressure 13 bar. This reveals that A, =

k . .
435k—; , for a reversible compressor. Now we will perform an energy balance on the
reversible compressor.

d MU+ v + gh
dt 2 T8
2
. 5 Vin . 3 Vout H A .
= My <Hin + 7 + ghin) — Moyt <Hout + T + ghout) + W+ Wgc +Q

Cancelling terms

0= Iilin(ﬁin) - Iilout(ﬁout) + V.VS

Ws o
Ih - out 1n
Find H;,

H;,~> Saturated Freon 22 vapor at 265K 9402;{—;

Ws _ 435 _ 4029 _ 359
m kg kg kg
_ Ws,reversible
ncompreSSOI‘ - m
k]
(555) _

Ws actual = ~(085) =412 kg

Set an energy balance on the boiler, remembering that enthalpy is unchanged in the valve,
so the enthalpy entering the boiler is the same as the enthalpy leaving the condenser.

. 3 Vin . 3 ch)ut A A .
= Myjp Hin + 7 + ghin — Moyt Hout + T + ghout + WS + WEC + Q
Cancelling terms

0= ri’Hn(ﬁin) - ri’lout(ﬁout) + Q
Q . —
m = Hout — Hin
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Chapter 5: Thermodynamic Processes and Cycles

Find enthalpies

Hin, > Freon 22 saturated liquid at 305 K 9240]1:—;
H, > Freon 22 at 265K 94021‘(‘_;

Qc K] K] K]
— =402——-240— =162 —
m 0 kg Okg 6 kg

Use the definition of the C.O.P

cop=2
Wi
16211({—]
C.0.P.= k%—3.88
4175
g

B) Set an entropy balance on the reversible compressor

d(M§)= M Sin — MoyeS +9+S
dt inYin outout T gen

Cancelling terms
Sin = Sout

Again the outlet from the reversible compressor is found by following the line of constant

entropy from the inlet condition (saturated vapor at 265 K ~ 17°F, H = 104 %) to the

outlet condition. For this refrigerant T=305 K = 89°F corresponds to a vapor pressure of
~120 psia. Again following the line of constant entropy from the compressor inlet

condition to 120 psia gives Hyy = 118% . For the reversible compressor:

Ws . BTU
— = Hoye — fip = 118 - 104 ——
Ws . BTU
no Ib
_ Ws,reversible
T]compressor -

Ws,actual
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Chapter 5: Thermodynamic Processes and Cycles

BTU
I ol o) B .0
s,actual (0.85) . b

And for the boiler
Q

. t
m ou 1n

Find enthalpies

BTU

H;,~> same enthalpy as R-422A saturated liquid at T=89°F =42 -

ﬁouté same as stream entering compressor >H= 104%
Q 104 BTU . BTU 62 BTU
m Ib b T 1b
Use the definition of the C.O.P
C.0.P.= &

S

62 —B;{)U
16.5 o

The answers to parts A and B are very close and, considering the level of accuracy of our
readings from the figures, should probably be considered indistinguishable.

C) Freon 22 is a powerful greenhouse gas with a global warming potential 1810 times
greater than CO,. Freon 22 has mostly been phased out in new equipment in the United
States and replaced by other refrigerants. HFC134a is a halualkaline refrigerant with a
lower ozone depletion potential than Freon. HFC134a has an LDsq (lethal concentration
for 50% of subjects) in rats of 1,500 g/m*® making it relatively non-toxic.
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Chapter 5: Thermodynamic Processes and Cycles

5-8) The engine on a steam ship runs on the Rankine cycle. The steam leaves the boiler
at 20 bar and 350°C. The turbine has an efficiency of 75% and an outlet pressure of 1
bar. The pressure changes in the boiler and condenser can be considered negligible and
the liquid leaving the condenser is saturated.

A) Determine the operating temperature of the condenser, and compute the efficiency
of a Carnot cycle operating between the boiler and condenser temperatures.

B) Determine the actual efficiency of this Rankine cycle and compare it to the Carnot
efficiency.

C) When the Titanic was sinking, the Carpathia received the S.0.S. and immediately
set course to attempt a rescue. The captain of the Carpathia ordered the hot water
turned off in the passengers’ cabins (Lord, 1955). What effect do you expect this
action had?

Solution:

A) The condenser operates at 1 bar, so T=99.6°C according to saturated steam table.
Boiler outlet temperature is 350°C (though the phase change occurs at 212.4°C, the
boiling temperature at 20 bar). The Carnot efficiency corresponding to these
temperatures is:

T 99.6 + 273.15

—1-S=1- = 0.402
1 T, 350 + 273.15

B) For steam at 350°C and 20 bar:

0 =31377 u S =6.9583 u
B " kg o kg K
For saturated liquid and vapor at 1 bar:

~ Koo k]
HY = 26749 — V=7 o
674.9 kg S 7.3588 kg K

_ kK 4 k]

HY =4175 — S =13028 —

kg kg K

The entropy balance for a reversible turbine (steady state, adiabatic and reversible) is:

A

Sout,rev = Sin

Thus for the reversible turbine in this case:

: U . y
Sout,rev = 6.9583 kg—K = QrepS’ + (1 - qrev)S
Qrev = 0.934
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Chapter 5: Thermodynamic Processes and Cycles

This is used to find the enthalpy leaving the reversible turbine:

iy ijv 7L k]
Hout,rev = qrevH + (1 - qrev)H = 2525.6 E
Reversible work for the turbine is:
74 A A kJ kJ
j\;’e” = Hyytrey — Hin = 2525.6 — 3137.7 e —612.1 ko

For an efficiency of 75%:

WS act Vi/srev ( k]) k]
— = - =(0.75)|—-612.1 —) = —459.1 —
M 1 M ( ) kg kg

The actual enthalpy of the stream leaving the turbine can be determined by closing the
energy balance:

Worer _
;\;C = Hout,act — Hiy
k] . kJ
_4‘59.1@ = out,act - 3137.7 @
~ kJ
Hout,act = 2678.6 @

The energy balance for the condenser is:

0 ..

M = Hoyt — Hin

The stream exiting the turbine is the same as the stream entering the condenser, and the
stream exiting the condenser is saturated liquid at 1 bar:

) k k
Q—.C = 417.5 — 2678.6 L = —22611 L2k
M kg kg
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Chapter 5: Thermodynamic Processes and Cycles

In the pump, the pressure is increased from 1 bar to 20 bar. Using equation 3.77 (an
integrated form of equation 1.30) and the molar volume of saturated liquid at 1 bar:

S

w N
ﬁz V(Pout_Pin)

N
w m3 105Pa\ (1 2\ /1J\/ 1kJ
S,pump m
Zsrump o (0.001043 — | (20 — 1
m (0 001043 kg)( 0 bar)(lbar) Pa (Nm) (10001)

The energy balance around the entire heat engine is:

Qu  Q

0= b2 _C + WS,furb + l/i/s,za.ump
m m m m
) k k k
0= Q—H + (—2261.1 —]) + (—459.1 —]) + 2 —]
m kg kg kg
) k
Q—,H = 2718.2 —]
m kg
The efficiency of the heat engine is:
W,
— et |(—459.1 ,’f—]) + (2 k—])|
g kg
n=+——= i = 0.168
Qu |2718.2 k—|
m 9

C) The steam produced in the ship’s boiler room was used for multiple purposes- this
steam could be used for anything on the ship that required either heat or work. The
captain was trying to maximize the “Qy” that was being used to power the engine that
turned the ship’s propellers, so he gave orders that prevented any heat from being
diverted to other locations, like the passenger cabins.
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Chapter 5: Thermodynamic Processes and Cycles

5-9) Below is a schematic of a variation on the Rankine Cycle, not for steam but for an
organic fluid. This process has been called the “organic Rankine Cycle:”

0
= /'
| H -f"v-'__
0 i ="~ Generator
2 oj—-:_:, o
)3 !

THERMAL OIL T~ -

P

L 5 |
Evaporator — - Regenerator

¢ 65T WATER

e -

Condenser

A) Do some research and determine the major advantage of using a Rankine cycle
with an organic as a working fluid as opposed to water.

B) There are five unit operations in the process above. Describe what is
happening in each of those steps (for the organic working fluid).

C) There is a valve between line 4> 5. Why do you think that line exists and
why do you think that valve is there?

Solution:

A) The major advantage of the ORC is to obtain useful work from low temperature heat
sources. Temperatures too low to boil water will boil many organics, and that is why
organic vapor is useful.

B) The turbine/generator is used to convert the internal energy of the organic into useful
shaft work. This shaft work is used to create electricity.

The regenerator is used to heat the compressed liquid from the pump. It takes the hot
organic from the turbine and reclaims energy so that the boiler does not require as much
energy.

The condenser condenses the vapor from the regenerator in order to pressurize it. The
purpose of this step is to avoid compressing a vapor because this requires a large amount
of work. It is far easier to pressurize a liquid than a vapor.

The pump takes the saturated liquid from the condenser and pressurizes it.

The evaporator uses hot thermal oil to evaporate the compressed liquid past its boiling
point. The vapor leaves the boiler as either saturated or superheated.
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Chapter 5: Thermodynamic Processes and Cycles

C) This line and valve gives operators a quick way to re-route some or all of the steam
around the turbine rather than sending it through the turbine. This could be used as a
safety feature so that the turbine/generator can be turned off quickly, without shutting
down the whole system.

5-10) A refrigerator runs on the vapor compression cycle, using R-422A as a refrigerant.
The boiler operates at 20°F. The effluent from the condenser is 10°F above ambient
temperature. The compressor has an efficiency of 80%.

Find each of the following:

the temperature and pressure of the gas leaving the compressor

the fraction of vapor in the stream leaving the expansion valve

the coefficient of performance

the mass flow rate of refrigerant needed to attain 10 kJ/sec of cooling.

A) The ambient temperature is 70°F.
B) The ambient temperature is 110°F.

Solution:

A) The boiler operates at 20°F, and the material leaving the boiler in the vapor-
compression cycle is conventionally saturated vapor. From the R-422A pressure
enthalpy diagram, saturated vapor at this temperature has:

H =107 BTU $=0.223 BTU
- b, " by, °F

The condenser temperature is 80°F; ten degrees above ambient. This temperature
corresponds to a vapor pressure of 100 psia, according to the figure. So this is the outlet
pressure the compressor must deliver.

If the compressor were reversible, the specific entropy of the exiting vapor would be the
same as the specific entropy of the entering vapor. Tracing the line of constant entropy
from the inlet condition (saturated vapor at 20°F) to the outlet pressure (100 psia)
produces an outlet condition of:

—~ BTU A BTU
Houtrev = 117 E Sout,rev = 0.223 Ib,,°F

The energy balance for a reversible compressor is:

Wyreo o - BTU

M Hout,rev - Hin 10 lbm
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Chapter 5: Thermodynamic Processes and Cycles

Applying the 80% efficiency:

Vi/s,.rev
M
n=—
Ws,.act
M
BTU
s,act — 125 ——
M Ib,,

Closing the energy balance, this means:

BTU

_ BTU
Hyueaee = 107 +12.5 — ~ 120 ——
Ib,,

b,

This specific enthalpy, and P=100 psia, corresponds to T~102°F.

Since the condenser operates at 80°F, the stream entering the valve is saturated liquid at
80°F. This has:
=402
7 Iby,

The specific enthalpy does not change in the valve (no heat or work) so the stream exiting
the valve has to be a mixture of saturated liquid and saturated vapor at 20°F.

~ BTU ~ ~
H=40 — =qHy + (1 —-q)H,

by,
2028 107 B 4 18 21U
q = 0.247

The mixture leaving the valve is ~25% vapor.

Calculating the C.O.P. requires knowing the compressor work (12.5 BTU/Ib) and the heat
added in the boiler. The energy balance for the boiler is:

Qc _ A H. =107 — 40 BTU _ 67 BTU
M - out in — lbm - lbm
Qc 67
cop=-M__ = 5.4
cact 125
M
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The flow rate needed to provide 10 kJ/sec of cooling can be determined from the known
Qc/MZ

) BTU
Yo 672
M Ibp,
: k]
i _ 10 5o¢ (0.9486 BTU) — 0 14 Pm
- 67 BTU ~ 67 BTU 1 k] - secC
by, by,

B) The boiler again operates at 20°F, but now the condenser operates at 120°F. The
stream entering the compressor is the same as part A:

~ BTU A BTU

A=107 — $=0223
Ib,, Ib,°F

But now the outlet pressure is about 190 psia, the vapor pressure at 120°F. Assuming a
reversible compressor:

—~ BTU A BTU
Houtrev = 123 m Soutrev = 0.223 Ib,,°F
W, _ _ BTU

S,MTEU = Houtrev — Hin =16 F
m
BTU
Woaer _ 1 Ty _, BTU
M .8 7 lby
Closing the energy balance, this means:

—~ BTU BTU
Hout.act = 107 + 20 m ~ 128m

This specific enthalpy, and P=190 psia, corresponds to T~160°F.

The stream entering the valve is saturated liquid at 120°F. This has:

H=51 51U
- by,
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The stream exiting the valve is again a mixture of saturated liquid and saturated vapor at
20°F:

_ BTU ~ ~
b,
51 810 _ 107 BTU + (1 18 BTU
q =0.371
The mixture leaving the valve is ~37% vapor.
The energy balance for the boiler is:
QC—H B, =107 — 51 10 — 56 210
M - out in — lbm - lbm
&
cop=-M_—-2_38
Ws,.act 20
M

The flow rate needed to provide 10 kJ/sec of cooling can be determined from the known
chM:

Qc _ 5 BTU
M by,
. k]
i _ 10 ¢ (0.9486 BTU) _ 0 17 Pm
- 56 BTU ~ 56 BTU ]_k] - secC
by, by,
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5-11) A heat engine operates on the Rankine cycle, with saturated steam at T=350"C
leaving the boiler, a condenser operating at T=100"C, and a turbine efficiency of 80%.

A) Find the liquid fraction leaving the turbine.

B) Find the overall efficiency of the heat engine.

C) A superheater is inserted into the cycle after the boiler, which increases the
steam temperature to 450°C without changing its pressure. All other
specifications remain the same. Find the liquid fraction leaving the turbine and
the overall efficiency of the cycle, and compare to the answers from A and B.
D) A heat engine operates with the same boiler, pump and condenser
specifications used in parts A and B (no superheater). Instead of a single turbine,
there are two turbines, each with 80% efficiency. The steam leaving the first
turbine has P=3 bar, is sent to a heat exchanger in which its temperature is
increased to 200°C, and then continues to the second turbine. Find the liquid
fractions in both turbine effluent streams and the overall efficiency of the heat
engine, and compare to the answers in A, B and C.

Solution:

A) For saturated steam at 350°C:
H = 2563.6 i §=5211 u
B " kg v kg K
The condenser operates at 100°C, so the outlet pressure from the turbine must be 1.0142
bar. Following are data for saturated liquid and vapor at these conditions:

_ kKo k]
HY =2 6 — V = 7.3541 ——
6756 15§V =73541 1

_ kKo k]
HLY =419.2 — L =1, 2 ——
9255 3072 1

The entropy balance for a reversible turbine (steady state, adiabatic and reversible) is:
gout,rev = gin

Thus for the reversible turbine in this case:

& k] &V oL
Sout,rev = 5.211 kg_K = GrepS’ + (1 — Qrev)S
Grer = 0.646

This is used to find the enthalpy leaving the reversible turbine:

i 304 3L k]
Hout,rev = QreyH” + 1- qrev)H = 1874.8 E
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Chapter 5: Thermodynamic Processes and Cycles

Reversible work for the turhine is:

W, R _ kJ kj
7 = Houtrev = Hin = 1874.8 — 2563.6 g~ 6888

For an efficiency of 80%:

w. W, k k
_s.act _ n( ST”) = (0.80) (—688.8 —]> = —551.0 o

M M kg kg

The actual enthalpy of the stream leaving the turbine can be determined by closing the
energy balance:

W, _ .
;\’;Ct = Hout,act — Hip
kJ . k]
—5510 @ = Hout,act - 25636 @
_ k]
Hout,act = 2012.6 @

We can use this result to determine the actual quality of the mixture leaving the actual
turbine:

3 gV L k]
Hout,act = queeH” + 1- Qact)H = 2012.6 E

Guer = 0.707
The liquid fraction is 1-q=0.293.
B) The energy balance for the condenser is:

Q

M = Hoyt — ﬁin

The stream exiting the ACTUAL turbine is the same as the stream entering the
condenser, and the stream exiting the condenser is saturated liquid at 1 bar:

) k k
Q—.C = 419.2 — 2012.6 —] = —1595.1 —]
M kg kg
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In the pump, the pressure is increased from 1.014 bar to the saturation pressure at 350°C,
which is 165.29 bar. Using equation 3.77 and the molar volume of saturated liquid at

100°C:

W,
MzV(Pout_Pin)
Wopump 0.001043 ™ (165.29 — 1.014 bar) wre) (S (1]>< 1k]>
m =0 kg) O TP\ Thar )\ TPa |\m) \1000
k
~171 L
kg

Note that near the critical point the assumption of constant specific volume for water
becomes suspect. At the pump outlet pressure we are comparatively close to the critical
pressure (~220 bar) of water, but at ~100°C we are still well away from the critical

temperature.

The energy balance around the entire heat engine is:

) e W W,
_ @ N & N S,turb s,pump

0 - - — + -
m m m m
) k k k
0=, (—1595.1 —]) + (—551.0 —]) c171 Y
m kg kg kg
) k
Q—.” _ 21290 9
m kg

The efficiency of the heat engine is:

W
—et |<—551.0 ﬂ) + (17.1 ﬂ>|
p=t - kg kg/l _ o.251
|Q—.H| |2129.0 ]'(‘—]|
m g
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C) The solution procedure is the same as in parts A and B, except now the temperature of
the steam entering the turbine is now 450°C, while the pressure remains 163.29 bar. The
steam tables contain data for 450°C at pressure of 150 and 200 bar. Interpolating
between these allows us to estimate the specific entropy and enthalpy of the steam
entering the turbine:

—~ - — . 163 — 150 bar
Hig329 = Hyso + (Hzoo - HlSO) ( )

200 — 150 bar
Freszs = 3157.9 L4 (3061 7-3157.9 kl) (163 > bar)
163.29 — kg . "~ kg/\200 — 150 bar
_ kj
H163.29 ES 3132.3 @
A ~ . . 163 — 150 bar
S16320 = S150 + (5200 - 5150) (200 — 150 bar)

Sresz0 = 6.1434 04 (59043 - 6.1434 al )(163 > bar)
16329 — O. kgK ' ' kgK/\200 — 150 bar
. kj
5163.29 == 60799 k’g_K

Using these data for the turbine inlet/boiler outlet stream, while leaving all other
specifications and the solution procedure the same, gives the following results:

Grep = 0.789
Worev . _g331 1
m kg
Ysact — _g465 K
m kg
Qace = 0.872
k
& = —1968.3—]
m kg
Wopump 1719
m " kg
k
& = 2697.7—]
m kg
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This Qg accounts for the heat added in both the boiler and the superheater. The energy
balance for two consecutive heat exchangers isn’t substantially different from the energy
balance for one.

n=0.270

The efficiency is fractionally higher and the liquid fraction is the stream leaving the
turbine is significantly lower, both of which are good things, but this version of the
system requires a heat source that is above 450°C.

D) Here, we have exactly the same pump as in part A/B- it takes in saturated liquid at
100°C and emits liquid at 163.29 bar.

Similarly, we have exactly the same boiler as in parts A/B—the fluid leaving the pump
enters the boiler, and the stream leaving the boiler is saturated steam at 350°C.

) k
Q—.H = 2129.0 9
m kg

However, we can’t assume Qc, the heat removed in the condenser, is the same— it

produces saturated liquid at 100°C as it did in part A, but we as yet have no data for the
stream entering the condenser, because the turbine specifications have changed.

Start by modeling the first turbine. As in part A, the steam entering the turbine is
saturated steam at 350°C:

_ Koo k]
H =2563.6 — §=5211 —
kg kg K
But now the turbine has an outlet pressure of 3 bar, and saturated liquid and vapor data at
this pressure are:

. k . k
HY = 27249 Lk SV =6.9916 M
kg kg K
— k . k
H: =561.4 —] St =1.6717 —]
kg kg K
: U . y
Sout,rev = 5.211 kg—K = QrenS’ + (1 - Qrev)S
Qrev = 0.665
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This is used to find the enthalpy leaving the reversible turbine:

iy ijv 7L k]
Hout,rev = qrevH + (1 - qrev)H = 2000.8 E
Reversible work for the turbine is:
74 A A kJ kJ
;;Ie” = Hyytrey — Hin = 2000.8 — 2563.6 e —562.8 ko

For an efficiency of 80%:

WS act VVS‘I"E‘U ( k]) k]
— = - = (0.80)| —-562.8 — ) = —450.3 —
M 1 M ( ) kg kg

The actual enthalpy of the stream leaving the turbine can be determined by closing the
energy balance:

W, _ .
;\’;Ct = Hout,act — Hip
Koo k]
—450.3 @ = Hout,act — 2563.6 @
. k]
Hout,act = 2113.3 @

We can use this result to determine the actual quality of the mixture leaving the actual
turbine:

i gV 3L k]
Hout,act = qaeeH” + (1- qact)H = 2133.3 E

Qact = 0.717
The liquid fraction is 0.283.

There is a heat exchanger between the two turbines. The stream exiting it is at 200°C and
3 bar, and thus has H = 2865.9 :—; and $ = 7.3131 Ifq—]K. The energy balance, like for

any of the other heat exchangers in this process, is:

o
~—-H . —H
m out n
; k k
Qe _ 8659 — 21133 L = 752.6 L
m kg kg
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For the second turbine, the exiting stream is at 1.014 bar like the turbine in parts A, B and
C, and the data for saturated liquid and vapor at these conditions, as used previously, is:

~ k A k
H" = 2675.6 —] SV =7.3541 —]
kg kg K
~ k A k
HY = 419.2 —] St =1.3072 —]
kg kg K
Modeling the 2" turbine reversibly:
S k] U oL
Soutzrev = 5.211 kg—K = q3revS + 1- qz,rev)S
q3rev = 0.993

This is used to find the enthalpy leaving the reversible turbine:

N _ . kJ
Hout2rev = QZ,revHV + (1 - QZ,rev)HL = 2660.3 @
Reversible work for the turhine is:
W,z, = o~ k] k]
SM”” = Houtrev — Hin = 2660.3 — 22865.9 i —205.6 P

For an efficiency of 80%:

WsZact WsZrev ( k]) k]
— =pn|—=—]=1(0.80)(—-2056 —) = —164.5 —
M 1 M ( ) kg kg

The actual enthalpy of the stream leaving the second turbine can be determined by
closing the energy balance:

W ,2,act —~ —~
SMaC = Hout,2,act — Hip
kJ - kJ
—164.5 @ = Hout,act — 2865.9 E
~ kJ
Hout,act - 2701.4’ E

This is higher than the saturated vapor specific enthalpy. The stream leaving this turbine
isn’t a VLE mixture are all, it’s a superheated vapor.
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In calculating the efficiency of the heat engine, we have to account for ALL the heat that
was added- both Qy from the boiler and what we called Qgg, for the heat exchanger
between the two turbines. Similarly we have to account for all the work added and
removed- in this case the pump and both turbines.

1%
— et ’(—164.5 ﬂ) + (—450.3 k—]) + (17.1 ﬂ)‘
= kg kg K9/L_ 0.207
Qu ’ LI LI '
s 21290 75+ 7526 15

Section 5.2.3 mentioned that replacing a single turbine with a two-stage turbine and inter-
stage heating can be an effective strategy for preventing excessive formation of liquid in
the turbine. Here, however, the strategy hasn’t really succeeded. The quality of steam
leaving the first turbine is only fractionally higher than it was for the turbine in part A,
but the efficiency of the cycle is significantly worse.

The first turbine inlet pressure in part D), as in part A), is over 160 bar, while the outlet
pressure of that first turbine (3 bar) isn’t all that much higher than the outlet pressure in
part A (1 bar). If we were going to “split” the turbine from part A into two turbines, it
would have worked better to choose an outlet pressure for the first turbine that was more
intermediate between 160 and 1 bar.

5-12) Water is the most common working fluid in a Rankine heat engine, but there is no
fundamental reason why a Rankine heat engine couldn’t be designed with other working
fluids. Suppose a heat engine is to operate with the following specifications:

e Quality (q) of fluid exiting turbine must be at least 0.9

e The fluid leaving the boiler is vapor at T=100°C. Its pressure can be specified as
needed to meet the constraint that g>0.9.

e The fluid leaving the condenser is saturated liquid at T=40°C

e Turbine efficiency is 1=0.8

Find the state of the fluid exiting the turbine, the net work produced by the cycle per
kilogram of operating fluid, and the efficiency of the cycle, for each of the following
operating fluids:

A) Water
B) Ammonia (Use Figure 6-2 for data)

ASSUMPTIONS:

There are no significant pressure changes in the boiler or condenser.

We cannot control the temperature exiting the turbine, but we can control the pressure
into the turbine
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Solution:

A) We will first start by finding the condition of the stream exiting the turbine as if the
boiler effluent was saturated steam.

aMs) . . Q

T dt MinSin — MoytSout + T + Sgen
Cancelling terms
gin = gout
Find Sout
Saturated Steam at 100°C 97.3541(1;—IK
N K]

Sin = Sout = 7. 354kg_K

From steam tables
Saturated liquid water at 40°C > 0.5724%
Saturated steam at 40°C - 8.2561(1;—]K

gout = §L(1 - qreV) + §V(qrev)

k] k rev rev
7354kg—K_05724—(1 q )+8256 ( )
q = 0.883

Find enthalpy out for the reversible process
ﬁout = ﬁL(l -q)+ ﬁv(qreV)

From steam tables

Saturated liquid water at 40°C »> 167.5:—;

Saturated steam at 40°C > 2573.511:—;

_ k] k] K]
Hout = 167.5k—g(1 —0.8883) + 2573.5k—g(0.8883) = 2291.2k—g

208

© 2015 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.



Chapter 5: Thermodynamic Processes and Cycles

Set an energy balance on the reversible turbine

d M(U + v + gh
dt 2 T8
2
. 3 Vin . 3 Vout A A .
= My (Hin + 7 + ghin) — Mgyt (Hout + T + ghout) + Ws + Wge +Q
Cancelling terms

0= rhin(ﬁin) - rhout(ﬁout) + V.VS
W

=H t_ﬁ'
m ou n

Find enthalpies

H;,~> Saturated Steam at 100°C 92675.6:—;

H,, was found previously > 2291.2:—;

W = 2291.2 K] 2675 6kI = —384.3 K
m kg kg " kg

Find actual turbine work

Ws,actual

Nturbine =
Ws,reversible

Ws,actual = nturbinews,reversible

K] k]
Ws,actual = 0.8 <—384.3 k_g> = —307.5k—g

Find the actual H,, by setting up another energy balance around the actual turbine.

d M ﬁ+v2+ h
dt 2 8

. 3 Vizn . 3 V(Z)ut A A .
= Mjy I—Iin + 7 + ghin — Mgyt Hout + T + ghout + WS + WEC + Q
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Cancelling terms

0= rhin(ﬁin) - rhout(ﬁout) + V.VS

I_Iout = + ﬁ1n
H,, = 3075k]+26756k]—23681k]
out — . kg . kg - . kg

Finding the actual quality

Water at 40° and 2368.1:—; - q=0.914

This quality meets the requirement so there is no reason to lower the turbine inlet
pressure, and the turbine inlet pressure can’t be raised above the saturation pressure.
Therefore the boiler operates at 1.014 bar.

Set an energy balance around the condenser

d M ﬁ+v2+ h
dt 2 8

L = Vizn . Vc2>ut . . .
= my, | Hjy + > + ghiy | — Mgy | Houe + > + ghoue | + Ws + Wge +Q

Cancelling terms

0= ri’lin(ﬁin) - ri’lout(ﬁout) + QC
Qo 4
—~—=H..—H
r-n out 1n

H,yt = Saturated liquid water at 40°C > 167.515—;

H;, = Actual stream leaving turbine > 2368.115—;

0 _ K KJ
— =167.5— 2368.1k— = —2200.6—

m g kg

Next evaluate the work in pump.

s,pump

~ 17(Pout - Pin)
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| N
Wiy 3 105 Pa\ (1/\ (1 mz\/ 1K
—t ~ (0001008 = ) (1014 - 0.0738 bar) (7= (Nm> P (1000])

k
_o1 Y

kg
Energy balance around whole engine:

' ' W, Ws turbi
%_l_ %_l_ s,pump + S,turbine

=% m m
g k
U _ 50704
m kg
)+ (015
|Wnet| |( 307. 5kg 0. 1kg

Nyg = = =0.123

o |Qadded| (2507911?)

g

B) First assume the vapor leaving the boiler is saturated ammonia vapor. Notice that,
while the vapor pressure of water at 100°C is 1.014 bar, for ammonia it is over 60 bar.

For reversible turbine:

~

Sin = Sout

Use Figure 6-2 for data

Sin—>Saturated vapor at 100°C >4.52 kl;—IK

k]

Sin = Sout = 4.52 —— X

Saturated liquid water at 40°C - 1.65 kI;—]K

Saturated steam at 40°C - 5.15 kl;—IK

gout = §L(1 - qreV) + gv(qreV)

4529 _ 1659 (1 - Q") + 515 K] = (@)
kgk " kgK

q™’ = 0.82
Find enthalpy out for the reversible process
Hout = HL(1 — q"") + Hy(q™")
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Saturated liquid at 40°C »> 39011:_;

Saturated vapor at 40°C -> 14901]:—;

Flout = 3900 (1 — 0.82) + 1490 ) (0.82) = 1202 )
T kg T kg T ke

Set an energy balance on the reversible turbine
2

d M U+V2+ h
at 2 8
VO

2
Vi . _ ¢ . . .
= My (Hin + % + ghin> — Moyt (Hout + Tu + ghout) + Ws + Wge +Q

Cancelling terms
0= r.nin(ﬁin) - rhout(ﬁout) + V.VS
Ws

s _a. _f
. t
m ou n

Find enthalpies

H;,~> Saturated vapor at 100°C 91450:—;

H, ., was found previously > 1292:{‘—3g

Ws _ 12029 14508 = 151
m kg kg kg

Find actual turbine work

Ws,actual
Nturbine =

Ws,reversible

Ws actual = T]turbineWs,reversible

K] K]
Ws,actual =0.8 (_158 k_g> = —126k—g

Find the actual H,, by setting up another energy balance around the actual turbine.
0= Ihin(ﬁin) - Ihout(ﬁout) + WS
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I_Iout = + ﬁ1n
Hyye = —126 K] + 1450 al = 1324 al
out — kg kg - kg

Finding the actual quality
Ammonia at 40° and 132411:—; - 0=0.85

This quality does not meet the requirement of g<0.9. One might consider setting the
ACTUAL outlet g to 0.9 and back-solving the inlet conditions, but this isn’t a realistic
strategy because we don’t know how much entropy is generated in the turbine. Instead
we can use an iterative procedure to find a pressure for the steam that meets the
requirement. For example if P=55 bar and T=100°C entering the turbine:

For reversible turbine:
girl = gout
Sin > Vapor at 100°C and 55 bar >4.70 kI;—]K

k]

S = Sout = 4, 70 kgK

Saturated liquid water at 40°C > 1.65 kI;—]K
Saturated steam at 40°C - 5.15 kl;—IK

Sout = S.(1 —q"™") + Sy(q™")

4709 —1, 65k—(1 q) + 515 al @
kgK
q"e = 0.871

Find enthalpy out for the reversible process
Hout = HL(1 — q"") + Hy(q™")

Saturated liquid at 40°C - 39011:—;

Saturated vapor at 40°C -> 149011:—;
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Hyut = 390 K] (1-0.871) + 1490 K] (0.871) = 1349 K]
out — kg . kg . - kg

Set an energy balance on the reversible turbine

~

out

Ws
m

—H

in

Find enthalpies

H;,~> Vapor at 100°C and 55 bar 91500]1((—;

H, . was found previously = 13491]:—;

Wy k] k] k]
— =1349 — —1500— = —151—
m kg kg kg
Find actual turbine work
n _ Ws,actual
turbine Ws,reversible

Ws,actual = nturbinews,reversible

K] K
Wy actual = 0.8 (—151 k—g) =-121 T

Find the actual H,, by setting up another energy balance around the actual turbine.

0= r.nin(ﬁin) - r.nout(ﬁout) + V'VS

I_Iout = I_Iin
H,,.=—-121 K + 1500 N _ 1379 al
out — kg kg - kg

Finding the actual quality
Ammonia at 40° and 137911:—:g - 0=0.90

This meets the criteria.

Set an energy balance around the condenser

-~

Q —~
=€ = Ao — B
r-rl out n
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H,yuc = Saturated liquid water at 40°C > 39011:_;

Hi, = Actual stream leaving turbine = 13791]:—;

' k k
% =390 — 1379—] = —889—]
m kg kg

Next evaluate the work in pump. Obtain liquid volume from Appendix C.

~ V(Pout - Pin)

Wspump 250 cm? ( 1m )3 (1 mol) (10009 ) 62
m mol ) \100 cm 17 g kg

N
105 Pa\ (1/\[ 12\ 1KJ kJ
~ 15 bar) < 1 bar ) (Nm) Pa (1000]) ® %9

VVs,pump

m

Energy balance around whole engine:

_ QC QH spump V.VS,turbine

0= - + :

m m m m
' k
% 1003 L
m kg

121
|Wnet| |( ) ( )|

= = =0.114

nH'E' |Qadded| (100 %)
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5-13) A steady-state liquefaction process generates 100 Ib,/min of saturated liquid
methane at P=10 psia. Fresh methane enters the process at T=75°F and P=10
psia, and is mixed with the recycled methane to form the “methane feed” stream.
This enters a heat exchanger (HX1) that cools the methane feed to T=-100°F and
P=10 psia. The process has two compressors (both n=0.75), the first of which
compresses the methane to P=100 psia, and the second compresses the methane to
P=1000 psia. Each compressor is followed by a heat exchanger (HX2 and HX3)
that cools the methane to T= —100°F without changing the pressure. Next, the
supercritical methane enters a counter-current heat exchanger (HX4) in which the
methane vapor from the flash chamber is used as the coolant. The coolant leaves
HX4 at T=-110°F, and is recycled into the “methane feed” stream. The
supercritical methane leaves HX4 and enters a flash chamber, where its pressure
is reduced to P=10 psia.

A) Determine the flow rate of the supercritical methane entering the flash
chamber.

B) Determine W for each of the two compressors.

C) Determine Q for each of the four heat exchangers.

Solution:

A) Begin by defining a system that contains both the flash chamber and HX-4, with “in”
being the supercritical stream entering HX4, “liq” being the liquid product and “vap”
being the recycled vapor.

Mip = Myig + Mygp
MinHiy = mlquliq + mvapHvap

Temperatures and pressures of all three streams are known so all values of specific
enthalpy are obtained from P-H diagram for methane (Figure 7-1).

My, = 100 m—;+ Myap
' (290 BTU) = (100 lbm) (118 BTU) + 7 (420 BTU)
Min b/~ min b, /)" Mvar

These two equations produce:
1b
m;, = 232 —

And also reveals that the vapor flow rate is 132 Iby,/min.

B) The flow rate through each compressor is 232 Ib,/min; the same as the flow rate of
supercritical methane entering HX4, since the compressors and HX1, 2 and 3 are simple
“one stream in, one stream out” units. For compressor 1, the entering stream has T=-
100°F and P=10 psia, so:
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- BTU
Hipcq = 425 T

Assuming the compressor is reversible, S, = S,,,¢. Applying this for an outlet pressure
of 100 psia produces:

BTU
Houtrev c1 — =560 — lb
Wsrev Cl BTU BTU
— == — 425 — =135 —
v, 560 5 b 35 b

For compressor 2, the entering stream has T= —-100°F and P=100 psia, so:

~ BTU
Hipcp = 415 T

Assuming the compressor is reversible, S;,, = S,,¢. Applying this for an outlet pressure
of 1000 psia produces:

BTU
Houtrev cz — =555 —— lb
W rev.c2 BTU _ BTU
———— = 555 - 415 F 140 — b
Applying the efficiency of 75%:
BTU
Ws,act,Cl — 135 lb — 180 ﬂ
M 0.75 1b,,
BTU
Wyacecz _ 1% To _ o BTU
M 0.75 1b,,

Multiplying by the flowrate 232 Ib,,/min gives actual work of 41,800 BTU/min and
43,400 BTU/min in the two compressors.

Closing the energy balance on the actual compressors then indicates that the ACTUAL
outlet streams from the compressors have:

75 BTU
Hout,act c1L — 425 + 180 = 605 F
7 BTU
Hout,act c2 — =415 + 187 = 602 F
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These are the streams entering HX2 and HX3.

C) For HX1, HX2 and HX3, the exact condition of the streams exiting the heat exchanger
are given- each have T = -100°F and pressures of 10, 100 and 1000 psia. Thus the
specific enthalpy of each can be obtained from the figure. The specific enthalpy of the
inlet streams for HX2 and HX3 were determined in part B. HX1 has two inlet streams-
the fresh feed which is at 75°F and 10 psia, and the recycle stream which has specific
enthalpy of 420 BTU/Ib, as established in part A.

The energy balance for HX2 and HX3 is:

And the flow rate through each is again 232 Ib,,/min. For HX1 the energy balance is:

Q = Mfreshﬁfresh +Mvapﬁvap - Moutﬁout

Exchanger A, (BTU/lby) | H, (BTU/lby) | Q(BTU/min)
HX1 513 (100 425 —8140
Ibm/min)
420 (132 Iby/min
HX2 605 415 —44,100
HX3 602 290 —72,400

In the fourth heat exchanger, if the system includes both sides of the heat exchanger (as it
did in part A), Q=0; the heat transfer is inside the system boundary. However, we can
determine how much heat is exchanged by looking at the recycled vapor only. This
stream enters HX4 as saturated vapor at 10 psia and exits with a specific enthalpy of 420
BTU/Iby, as established in part A.

Q 420 BTU 241 BTU 7 BTU
M b, b, ' Ib,

. BTU\ . BTU b, BTU
Q= (79 —)M = (79 —) (132 —) =10,400 —
by, by, min min

And this same heat is removed (negative Q) from the supercritical methane in HX4.
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5-14) The boiling point of a compound at P=0.1 MPa is 150 K. The Linde liquefaction
process will be used to produce saturated liquid at P=0.1 MPa, which has a specific
enthalpy of 20 kJ/kg. The table below contains some physical properties of the
compound. The steady-state process works as follows:

1. 50 kg/minute enters the process at T=250 K and P=0.1 MPa.

2. The feed enters a series of compressors and heat exchangers, and it leaves the last

heat exchanger at T=200 K and P=10 MPa. The TOTAL work added by the

compressors is 300 kilojoules per kilogram of feed.

The stream leaving step 2 is cooled to T=175 K in a heat exchanger.

4. The stream leaving step 3 enters a flash chamber where it expands to 0.1 MPA
and some of it condenses.

5. The vapor from the flash chamber is used as the coolant for the heat exchanger in
step 3.

6. The vapor stream (at P=0.1 MPA) from step 5 is NOT recycled; it exits the
process as a by-product.

w

A) Find the flow rate of liquid product leaving the flash chamber.

B) Find the specific enthalpy (kJ/kg) of the vapor by-product described in step 6.
C) Find the total heat removed by the heat exchangers during step 2, in kJ/min.

D) What is the heat capacity of the compound, in kJ/kg-K, at ideal gas conditions?

Specific enthalpy in vapor or supercritical phase at various temperatures and
pressures, in kJ/kg.

150 K 175 K 200 K 225 K 250 K 275 K
0.1 MPa | 200 215 230 245 260 275
1 MPa 192 202 215 229 241 258
10 MPa 184 190 200 215 228 241
219
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Solution:

® o ==

® ©

A) Set up a mass balance around the entire system

k=K k=K
Mfinal — Minitial = Z Mg in — Z Mg out
k=1 k=1

Cancelling terms
Set an energy balance around the flash chamber

={m (ﬁ + "; +gh)} = 212 {mjlin (ﬁj + VZ—’Z + ghj)} — ZKEK i oue (A + "7‘1 +
ghi )} + Ws + Wge +Q

Cancelling terms

-~ =~ =~

O = I'i’chc - mFHF - thHD
Find the enthalpies using the table,

Hc~> Substance at 175 K and 10 MPa bar > 190:—;
Hr~> Saturated Liquid substance at 150K > 20:—;

Hp > Saturated Vapor at 150 K > 20011:—;g
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Plugging in terms to the energy balance around the flash chamber and the mass balance
around the entire system,

0=n 190k] i 20k] i ZOOk]
= Img¢ kg mg kg mp kg
50—8 =y + 1
min fMp T Mg

We know that the mass flow rate in and out of the series of heat exchangers and
compressors described by Step 2 is the same. We also know that the two streams running

in and out of the heat exchanger do not mix. Therefore, my = m¢ = 50:—;. Using this
same logic, we know mg = mp. Applying these facts,

50 kg =g + 1
min_mF Mo

and
0= mc1901‘:—; - mpzolf—; + szoot—; >0=(50-%) (190:—;) - mpzoi‘—; +
szoolf—;

Solving the above system of equations, (two equations, two unknowns), we find

. kg
hp = 47.22 —
min
k
Ty = 2782
min

B) Set an energy balance around the counter current heat exchanger

d ~ 2 _ ) _ V2 _ . ~ ,
E{M (U + V? + gh)} - Z;=]1 {milin (Hi ++ ghj)} - §=‘f{mk,out (Hk + % +
ghk)} + W5 + Wee +Q

Cancelling terms

O = (thﬁD + thﬁB) — (mcﬁc -|- mEﬁE)

We know that the two streams running in and out of the heat exchanger do not mix.
Therefore mg = mp and mg = m¢. Rewriting the simplified energy balance,

0= (thﬁD + l’hcﬁB) - (I’i’lcﬁc + thFIE)
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Find the enthalpies using the table,

Hc~> Substance at 175 K and 10 MPa > 19011:_;
Hg = Substance at 10 MPa and 200 K > 200:—;
Hp = Saturated Vapor at 150 K > 20011:_;

We found in Part A) that mp = 47.22 % We also established that m, = m¢ = 5011:—;.

Therefore,
kg K] k K] kg K]
0= (47.22—_) (200 —) + (50—,) (200 —) - (50—,) (190 —)
min kg min kg min kg
kg \ ~
+ (47.22 —) He
min
Hp = 210.58 k)
E - . kg

C) Set up an energy balance around the compressors and heat exchangers described in
Step 2.

2m(0+ L gh)} = i, (i +

Wege +Q

Vin : Ty Vgu A
+ ghin) — Moyt (Hout + 5 ‘- + ghout) + WS +
Cancelling terms

O = mA(ﬁA) - mB(ﬁB) + WS + Q

Find Enthalpies

Hg > Substance at 10 MPa and 150 K > 200;{‘—;

H, = Substance at 0.1 MPa and 250 K > 260:—;

0= (sok—g)(zeoﬂ)—(Soﬁ) (zooﬂ)+ 30022 4+

min kg min kg min

) = 3300k]
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D) An ideal gas follows the following equation
di = CpdT

Chose the values from the table that are most likely to act ideally. This is the lowest
pressure and the highest temperature.

(ﬁz - ﬁl) = CE(TZ —Ty)

(275 M _ 260 k])—c*(2751< 250K)
kg kg/ P

Cp = 06kg—K

5-15) A steady-state heat engine operates on the Rankine cycle.
e The steam entering the turbine is 1 kg/s of steam at P=3.5 MPa and T=350°C.
e The ACTUAL stream exiting the turbine is a mixture of 95% vapor and 5% liquid
at P=50 kPa.
e The stream entering the pump is saturated liquid at P=50 kPa.

A) Determine the efficiency of the turbine.

B) Estimate the work required by the pump.

C) Estimate the overall efficiency of the heat engine.

D) What is the efficiency of a Carnot heat engine that operates between a high
temperature of 350°C and a low temperature that is the same as the temperature of the
condenser in this problem?

ASSUMPTIONS:

There are no significant pressure changes in the boiler or condenser.
There is no significant volume change for the liquid in the pump.
The condenser produces saturated liquid, not compressed liquid.

A)
Ws,actual

Nturbine =
Ws,reversible

We must find the work done by the turbine if it was reversible. Set up an entropy balance
around the reversible turbine

Q

(Mzgz) - (Mlgl) = rningin - rnoutgout + T + Sgen
Cancelling terms
§in = gout
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Find Sou¢

Si;,~> Water at 35 bar and 350°C = 6.660 %

. K]
Sin = Sout = 6.660 ek

Set an energy balance around the reversible turbine

SO+ S gn)} = i (Fin + 52+ ghin) = rigu (Fou + 52+ ghous) + Ws +

Wi +Q

Cancelling terms

0= r.nin(ﬁin) - rhout(ﬁout) + V.VS
W o =T

m — ‘lout in

Find the Enthalpies

H;,~> Water at 35 bar and 350°C > 3104.8 g

At 0.5 bar St = 1. 0912 — and SV =17. 5930

§ = 6.660 kk_ = GrevS” + (1 = Grep)S* > Grey = 0.857
Houe = VLE mixture at 0.5 bar and g=0.857 92314.511((—;

W = 23145k] 3104.8 k] 7903k]
h kg kg kg
Find the work done by the actual turbine

Set an energy balance around the reversible turbine

S0+ S+ gh)} = sy (Fi + 2+ ghiy) = thgue (Foue + 22 + ghoyy) + Ws +
Wee +Q
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Cancelling terms
0= rhin(ﬁin) - rhout(ﬁout) + V.VS
Ws

=5 = Aow — A,
m ou n

Find the Enthalpies
H;,~> Water at 35 bar and 350°C > 3104.8 :—;

., > Water at g=0.95 and 0.5 bar > 2530.01‘:—;
Ws _ 253001 — 31048 X = 574,62
m o kg “kg 7 kg
—574.81%
Nturbine = —k] =72.73%
~790.3 1+
g

B) Using the equation obtained from Example 3-8, we will find the shaft work of the
pump. We will model the liquid as constant specific volume.

X P=Pout .
P=Pjn
. . P=Pout
W5 = V] dP = mV(P,, — Py)
P=Pj,
Ws _ V(Pout — Pin)
m - out in

Find the Pressure in and out

The stream leaving the condenser is saturated water. The stream entering the condenser is
a mixture. We assume that the condenser does not significantly alter the pressure when
the entering stream is a mixture. Therefore P, = 0.5 bar

Pressure out can be found by similarly assuming that the boiler does not change the
pressure of the steam. Therefore, P, = 35 bar
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Find specific Volume
N - - 3
V - Saturated liquid water at 0.5 bar >1.03 x 1073 f—g

WS _ m3 k]
— =(1.03x1073— | (35bar — 0.5bar) = 3.55 —
m kg kg

C) Set an energy balance around the boiler
d

. 2 . 2 Y 2 .
E{M (U + V? + gh)} = rhin (Hin + % + ghin) - I'hout (Hout + % + ghout) + WS +
Wi +Q

Cancelling terms

0= Iilin(ﬁin) - Iilout(ﬁout) + Q

Q

2 fi—H
. t
m ou 1n

Find the enthalpies

The saturated liquid water leaves the condenser at 0.5 bar (see previous part) and is

therefore at H = 340.5 :—;. An energy balance around the pump can be used to
demonstrate that the enthalpy leaving the pump is H = 344 :—;. So for the boiler:

Hyyut = Water at 35 bar and 350°C = 3104.8 —

K]
kg

i, = Water exiting pump =344 11:—;

Q K] K] K]
— =3104.8 — — 344 — = 2760.8—
m kg kg kg
N _ _Wturbine,rev
H.E. Qadded
574.8%
Ny = —k] =0.208
2760.8k—
g
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D)
Tc
T]Carnot =1- ﬁ
81.32 4+ 273

Nearmor = 1~ 350 4 273 — 0-369

5-16) A refrigeration process operates using the vapor-compression cycle, using a
proprietary refrigerant that the inventor claims is better than R-422A. At low pressures,
the refrigerant can be assumed to act as an ideal gas with constant C,=14R and reportedly
has a molecular weight of 400 g/mol. The steady-state refrigeration cycle reportedly
works as follows:

e A boiler produces saturated vapor at P=0.02 MPa and T=5°C, which has H = 50
kJ/mol.

e The vapor is compressed to P=0.06 MPa and T=50°C.

e The vapor is then condensed to saturated liquid at P=0.06 MPa, which has H = 20
kJ/mol.

e The liquid undergoes an isenthalpic expansion to P=0.02 MPa, and enters the
boiler.

A) What is the efficiency of the compressor?

B) If we wished to scale the process described above so that it provides 3000 kJ/min
of cooling, what is the required flow rate of refrigerant in kg/min?

C) What is the coefficient of performance of the refrigeration cycle?

D) Design a refrigeration cycle using R-422A as the refrigerant, in which the rate of
cooling is 3000 kJ/min. In designing this process, you should make all
specifications and design decisions in such a way as to allow a meaningful
comparison between R-422A and the proprietary refrigerant.

E) Based on the outcomes of questions A-D, comment on the inventor’s claim that
the proprietary refrigerant is better than R-422A .

A) Set an entropy balance around the reversible compressor

d(NS) | . Q .
dt = NjpSin — Noutdout T T + Sgen

Cancelling terms

0= §in - §out
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Solve for the entropy difference across the compressor modeling the gas as ideal

P,
dS—Cpln(T)+Rln(P2)
ds = (C; + R)1 (T)+Rl (P)
- eV, P,
T, t l)in
S—(15R)ln(°u)+Rln( )
Tln l:)out

0= 15(8314 J ) 1(Tout)_l_(8314 J )l (0.02MPa)
B P ol K/ ) M \278K 2 ol K/ " \0.06MPa

Tour = 299.1K

To find the enthalpy of the effluent of the reversible compressor (modeling as ideal),

dH = C5dT
Horo — 50000 —— = 15 (8.314 L) (299.1K — 278K)
—-outrev mol mol K
K]
Hout,rev = 52.63@

Set an energy balance around the reversible compressor
2

d U + v + oh
N &
out

. Vi . . R
= Djp Hin + % + ghin) rlout (Hout +— 2 + ghout> + WS + WEC + Q

Cancelling terms

0= r:lin(ﬂin) - r:lout(ﬂout) + V'VS

Wg,
ﬁreV = Hout,rev - Hin
Wi, k k k
Wsrev _ 556329 508 _ 56320
n mol mol mol

We know that this gas acts ideal, so we may find the change in enthalpy using the
formula

dH = C5dT

This will give us the ACTUAL enthalpy of the exiting stream
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dH = (Cy + R)dT

—

Hout — ﬁin = (14R + R) (Tout - Tin)

J J . .
Houe — 50000 — = 15 (8.314m) (50°C — 5°C)

K]
ﬂout = 5561 m

Set up an energy balance around the actual compressor

4 (uss 4 an
| \=T2TE
2 2
. Vin . Vout H H
= Nj, | Hin + 7 + ghin | — Noue | Hout + > + ghout | + Ws + Wi
+Q
Cancelling terms

0= r.lin(ﬂin) - r.lout(ﬂout) + V.VS

ws o
n Hout = Hin
W k s .
% 55613 —50-L — 561
n mol mol mol

_ Ws,reversible
ncompreSSOI‘ - m

2.63%

T]compressor - ?mk_g)l = 0.469

B) Set an energy balance around the boiler

4 (v+% 4 on
acl \=T 278
2

. Vin . Vout A A .
= Djp Hin + 7 + ghin — Doyt Hout + T + ghout + WS + WEC + Q
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Cancelling terms

0= r.lin(ﬂin) - r.lout(ﬂout) + Q

3o

= Hout - Hin
. K]
Hout - Given > SOm

H,,~> Given > 20-L
— mol

: k k k

g=50 ) —20 ] =30 ]

m mol mol mol

K]

(3000mm) (400 8 )( 1kg ):4 kg
( K] mol/ \1000g min
30 )

mol

C)

cop=X
W,

S

Q. Givenas > 3000%
. . k] kg 1000g mol) k]
W,—> Found previously - 5.61 — (40 —) (—) ( ) =561—

min 1kg 400g min

3000 XL
C.0.p.= — N _ ¢ 3¢

561 5L
mln

D) For valid comparison:
Assume the condenser and boiler temperatures are the same

Assume the compressor efficiency is the same
Set up an entropy balance on the reversible compressor

~

Sin = Sout

Sin > Saturated vapor R-422A at 5°C = 41°F 0.225

m

Condenser operates at 50°C = 122°F so the compressor outlet pressure must equal vapor
pressure at this temperature, which according to the figure is slightly below 200 psia.

Set an energy balance around the reversible compressor

WS,reV =5

= Hout,rev — Hjp

m
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Find enthalpies

BTU

Hi,> Saturated vapor R-422A at 41°F >108 - —

Houtrev=> To find the enthalpy of the outlet, follow the line of constant entropy from

inlet condition to P~195 psia - 120 iﬂ
W. BTU BTU BTU
S:rev - 120 —108—=12——
T by by, 1B,
_ Ws,reversible
TIcompressor - m
12 BTU
W, _ WS,reversible _ lbm = 25 6_BTU
s,actual — - o
compressor 0.468 lbm

Perform an energy balance on the boiler

d M ﬁ+v2+ h
dt 2 8

L = Vizn . V(2)ut . . .
= my, | Hjp + > + ghiy | — Mgy | Houe + N + ghoye | + Ws + Wge +Q

Cancelling terms
0= ri’lin(ﬁin) - ri’lout(ﬁout) + Q

S Q
Hin = Houe _E

Find H,,, using the P.E diagram

Hou:>R-422A saturated vapor at 5°C - 108 BbT—U

by

H;,~> same as saturated liquid at 50°C, because enthalpy is unchanged in the valve >

BTU
52—
C.0.P.= Qe
W
W _ . BTU
T by,
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BTU
5275~

BTU
25.6m

C.0.P.= =2.03

E) Based solely on the C.O.P. of each cycle, the inventor’s refrigerant seems far better, at
least at these temperatures and with this compressor efficiency. But neither C.O.P. is
especially large, because the inventor’s system has a compressor with an efficiency
below 50%.

5-17) A steady-state Rankine cycle currently in service operates as follows:
e Steam leaves the boiler at P=8 bar and T=250°C.
Steam leaves the turbine as saturated vapor at P=0.3 bar
Water leaves the condenser as saturated liquid at P=0.3 bar
Water leaving the condenser is pumped up to 8 bar and returned to the boiler
The power output FROM THE TURBINE is 1 MW

Your company has the opportunity to upgrade the turbine to one that is 85% efficient, at a
cost of $1.2 million. This includes all costs associated with the replacement- the new
equipment, installation, instrumentation, etc.

If the upgrade is done it will work this way:

e The flow rate, temperature and pressure of the steam entering the turbine will all
be unchanged, but the turbine is expected to produce more work.

e The pressure leaving the turbine will still be P=0.3 bar, but won’t necessarily be
saturated vapor, since the turbine is now removing more energy as work.

e The Qc in the condenser will be adjusted such that the water leaving the turbine is
saturated liquid, allowing the pump and boiler to operate EXACTLY the same in
the upgraded cycle as they do in the current cycle.

e The current turbine produces 1 MW of power, 24 hours a day, for 350 days per
year. The company values any “extra” work produced beyond this at $20/G]J.

A) Determine the flow rate at which water/steam circulates through the process.

B) Determine the efficiency of the turbine in the CURRENT cycle.

C) Determine the overall efficiency of the CURRENT cycle.

D) Determine the power produced by the turbine in the UPGRADED cycle.

E) Determine the overall efficiency of the UPGRADED cycle.

F) How long will the new turbine have to operate in order to pay for the $1.2 million
cost of the upgrade?

ASSUMPTIONS:

There are no significant pressure changes in the boiler or condenser.
There are no significant change of water density in the pump.

The condenser produces saturated liquid, not compressed liquid.
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Solution:

A) Set up an energy balance around the CURRENT turbine

d MU+ v + gh
dt 2 T8
2
. 5 Vin . 5 Vout A A .
= My (Hin + 7 + ghin) — Moyt (Hout + T + ghout) + Ws + Wgc +Q
Cancelling terms
0= rhin(ﬁin) - rhout(ﬁout) + V.VS
. Ws
m=_—=————
I_lout - Hin

Find enthalpies

H,ut = Saturated Steam at 0.3 bar >2624.5 :—;

H;, > Steam at 8 bar and 250°C > 2950.4 E—;

We know that Wy is 1 MW

o X
~IMW | —red®€
. W kg
Hout = Hin 26245 8 _ 29504 sec
kg kg

B) Set up an entropy balance on the reversible CURRENT turbine

dmsS) o 4 :
dt = MjpSin — MoyeSout T + Sgen

Cancelling terms

0 = miySinp — MyyueSout

~

Sin = Sout
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Find entropies

Si, > Steam at 8 bar and 250°C - 7.040 %
. . K]
Sil’l = Sout = 7040 kg_K

At P=0.3 bar, this specific entropy corresponds to q=0.893.

Set up an energy balance on the reversible CURRENT turbine

Ws_ o o
m — tlout in
Find enthalpies

Houe > Water at 0.3 bar and g = 0.893 > 2375.6 11:—;

H;, > Steam at 8 bar and 250°C > 2950.4 :—;

Ws kJ kJ k]

— =2375.6 — — 29504 — = —-574.8—

m kg kg kg
_ Ws,actual

Nturbine =

Ws,reversible

We know that the reversible turbine produces 574.8:—; of work, while the actual turbine

produces 1MW of work. We must get these values into the same dimensions. We will
bring the reversible turbine value to units of power by multiplying by the mass flow rate
found previously.

N ke[ 1MW
(—574.8—) (3.07—) | =-176MW
ke sec/\ 1000 2L
secC
1MW

Neurbine = 77 Mw — 20 677
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C) Find work in pump:

Ws
— = V(Pyye — P,
m ( out 11’1)

N
0001022 ™ (8 — 0.3 bar) 10° Pa ( ) )( 1k]) L m?
' kg PPN Tpar J\TNm/\1000//\ 1 Pa

k

=0.8—]

kg

Ws o
f—Hout_Hin

m

Find enthalpies

H;, > Saturated liquid water at 0.3 bar > 289.3 :—;
W, k
Ws _0g Y
m kg

Solve energy balance for:

_ K
Hout::290.1Eé

Set up an energy balance around the boiler
Q - A

— =Hyue — Hi

m out m

Find the enthalpies

Hoyue = Steam at 8 bar and 250°C &> 2950.4 11:—;

H;,~> same as water leaving pump = 290.1 11(‘—;

g= 2950.4 ﬁ—2901 ﬂ= 26603ﬂ
m " kg " kg kg
N _ _Wnet
HE " Qadded
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Again, we have the issue of comparing two numbers that are not dimensionally
compatible. Therefore, we will multiply the pump work by the mass flow rate again.

_ (osk])(307kg) _IMW_ ) _ 1 oMw

kg sec/\ 1000 K
SecC
Mye = =0.122
(2660.3 %) (3 07 Sigc) 1M—V\{<]
J 1000

D) The reversible UPGRADED turbine is the same as the reversible turbine examined in
part B.

Ws k] k] kJ
— = 2375.6 —— 29504 — = —-574.8—
m kg kg kg

Find the energy produced by the actual, UPGRADED turbine

Ws,actual

Nturbine =
Ws,reversible

Ws actual = Myrbine X Ws reversible

K] k]
Ws actual = 0- 85 x —574. 8k_g = 488. 6k_g

Convert this work per mass to power using the mass flow rate

K] kgy( 1MW\
488.6:) (3.07—>) | —— | = 1.50MW
kg se¢/\ 1000 ]

E) The pump work and the heat added from the boiler are identical to what they were in
the original cycle.

_ (0.8ﬁ> (3 07 kg) _IMW_ ) _ 1 sMw

kg sec/\ 1000 kK
secC
Nue = =0.183
(2660 3 ll(‘]) (3 07 ;‘egc) LV\{(]
8 1000

F) Normally, we would compare the total revenue produced to the start up and operating
costs. However, in this problem, the operating costs are exactly the same as the original
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cycle. The 1 MW of power being produced originally must also be subtracted from the
upgraded power produced. Therefore, the only things being considered in this price
analysis are the additional power revenue and the start up costs of the new turbine.

Additional Power Produced
= Upgraded Power Produced — Original Power Produced

1.5MW — IMW = 0.5MW

Convert additional power generated to a rate of revenue

13 20%\ $0.01
SMW S€C =—
05 1000 MW ( GJ ) sec

The upgraded process will generate 1 cent per second. Find how long it will take to
generate $1,200,000.

$1200000( sec )( min )( hour )( day )( lyear ) — 397
$0.01/ \60sec/ \60min/ \2ahour/ \350day/ ~ > 7/ Y€

5-18) You are designing a steady state liquefaction process that will manufacture liquid
methane. Part A of this problem will focus on two unit operations: the flash separation
step itself, and the countercurrent heat exchanger in which the vapor from the flash
chamber is used to cool the feed entering the flash chamber. In answering parts B and C,
however, consider the entire Linde process, not just the two unit operations for which you
performed calculations.

Methane enters the counter-current heat exchanger as supercritical vapor at P=1000 psia
and T=-100°F. It is cooled and enters the flash chamber, where the pressure is reduced
to P=10 psia. The flow rate of liquid methane product is 100 Iby, /min. The methane
vapor from the flash is sent to the counter-current heat exchanger. The design parameter
that is under your control is the temperature of this methane vapor stream when it leaves
the counter-current heat exchanger—it can be —130, —120 or —110°F.

A) Find the flow rate of supercritical methane entering the counter current heat
exchanger for each of the three possible systems.

B) Discuss the factors that you would expect to affect the cost OF THE
EQUIPMENT ITSELF for the Linde process, and what the results of part A
suggest about these costs.

C) Discuss the factors that you would expect to affect the cost of OPERATION of
the process, and what the results of part A suggest about these costs.
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Solution:

A) As this is a steady state process, the mass flow rate of A and B are identical, as are
the mass flow rates of D and E. They will be used interchangeably during this solution.

FOR STREAM 3 AT —130°F

Set a mass balance around the heat exchanger and flash chamber

k=K k=K
Mtinal — Minitial = z My in — Z M out
k=1 k=1

Cancelling terms
h, = m¢ + Mg
Set an energy balance around heat exchanger and flash chamber

={m (U + "; +gh)} = 212 {mjlin (ﬁj + VZ—’Z + ghj)} — TR i oue (A + "7‘1 +

ghi )} + Ws + Wee + Q
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Cancelling terms
rhAﬁA = mcﬁc + rhEFIE
Find enthalpies

Btu

H, > Supercritical methane at 1000psia and —100°F =290 o
Btu

H; ->Saturated methane at 10psia=>125 o

Hg = Supercritical methane at 10psia and —130°F 2416 E)ﬂ
1bm
min

Given m¢ = 100

Between our two equations, we have two unknowns. Solving for the flow rate of Stream
E,

. . lbyy,
my — Mg = 100ﬁ
i (290 Btu) i (416 Btu) = (100 lbm)(125 Btu)
Ma b, ME b/~ min b,
1b
mg = 131 —
min

FOR STREAM 3 AT —-120°F

Set a mass balance around the heat exchanger and flash chamber

k=K k=K
Mfinal — Minitial = z my i — Z My oyt
k=1 k=1

Cancelling terms

mA = rhc + rhE

Set an energy balance around heat exchanger and flash chamber

d = v2 ji= . = V'2 = . = V2
aM(0+ S+ gh)} = 52, {mi.in (Hi ot ghj)} — RN (g oue (i + 2+

ghi)} + Ws + Wy + Q
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Cancelling terms
rhAﬁA = mcﬁc + rhEFIE
Find enthalpies

Btu

H, > Supercritical methane at 1000psia and -100°F =290 o
Btu

Hc ->Saturated methane at 10psia=>125 o

Hg = Supercritical methane at 10psia and -120°F =420 E)ﬂ
1bm

min

Given m¢ = 100

Between our two equations, we have two unknowns. Solving for the flow rate of Stream
E,

. . by
my — Mg = 100ﬁ
: (290 Btu) : (420 Btu) = (100 lbm)(us Btu)
A b, ME b =\ min b,
Ib
mg = 127 —
min

FOR STREAM 3 AT —-110°F

Set a mass balance around the heat exchanger and flash chamber

k=K k=K
Mtinal — Minitial = Z My in — Z M out
k=1 k=1

Cancelling terms

M, = mc + Mg

Set an energy balance around heat exchanger and flash chamber

%{M (ﬁ + V;z + gh)} =37 {r’nj,in (ﬁ,- + VZ—’Z + ghj)} - ‘ﬁ:‘f{mkjout (ﬁk + Vz—ﬁ +
ghi )} + Ws + Wec + Q

Cancelling terms

taHy = mcHe + mgHg
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Find enthalpies

Btu

H, > Supercritical methane at 1000psia and -100°F =290 o

Btu

Hc > Saturated methane at 10psia=>125 o

Btu

Hg = Supercritical methane at 10psia and -110°F =425 T

Given g = 1002

min
Between our two equations, we have two unknowns. Solving for the flow rate of Stream
E,

Ib,,
o 1ootm
mp mg 00 min
: (290 Btu) : (425 Btu) - (100 lbm)(us Btu)
A b, ME b =\ min b,
Ib
mg = 122 ——
min

B) The most straightforward answer is that the more heat is transferred in the
countercurrent heat exchanger, the larger and more expensive the heat exchanger will be.
Thus the case in which the vapor stream was —110°F would have the most expensive heat
exchanger.

However, an additional point is that the case in which the vapor stream was —110°F had
the lowest flow rate of recycle, while all three cases must have the same flow rate of fresh
feed. A lower recycle flow rate means a lower total flow rate through all the earlier
compressors and heat exchangers in the process, and thus smaller equipment sizes for
these pieces of equipment.

C) The main operating costs will be the work added to the compressors and the heat
removed in the heat exchangers that precede the counter-current exchanger. While this
problem doesn’t specify how the heat is being removed in these exchangers, we can
assume the coolant isn’t “free,” since its well below ambient temperature! Again, a lower
recycle flow rate means lower flow rates through these unit operations, which means less
work and less cooling is required.
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5-19) You are designing a refrigeration cycle, and have the option of using either a
compressor with an efficiency of 70%, or a compressor that is more expensive by $5000,
but has an efficiency of 80%. The following specifications are valid regardless of which
compressor is used:

The refrigerant is R-422A.

The liquid leaving the condenser is saturated liquid at T=50°C.
The boiler operates at T=0°C.

The vapor leaving the boiler is saturated vapor.

The cycle must have Q¢c=1000 kJ/min in the condenser.

A) Determine the flow rate of refrigerant. Is it the same or different in the two
cycles?

B) Determine the compressor work for each of the two possible compressors.

C) Determine the coefficient of performance for the cycle with each of the two
possible compressors.

D) The compressor runs on electricity, which is available for $0.10/kWhr. Assuming
the refrigeration system runs constantly, how long would the system have to run
in order for the higher-efficiency compressor to be cost effective?

Solution:

A) Set an energy balance on the condenser

d MU+ v + gh
dt 2 T8
2 2
. | Vin . " Vout A A o
= My Hin + 7 + ghin — Moyt I'Iout + T + ghout + WS + WEC + Q
Cancelling terms
0= r.nin(ﬁin) - r.nout(ﬁout) + Q
Q .
= =~<—In
(Hout - Hin

Find enthalpies: Both cycles have saturated liquid at 50°C leaving the condenser, which
equals 122°F:

BTU

Saturated liquid R-422A 50°C - SBF

And enthalpy is unchanged by valve so this is both H;,, for the boiler and H,,, for the
condenser.

Both cycles have saturated vapor leaving the boiler.

242

© 2015 Cengage Learning. All Rights Reserved. May not be scanned, copied or duplicated, or posted to a publicly accessible website, in whole or in part.



Chapter 5: Thermodynamic Processes and Cycles

Houe> Saturated vapor R-422A at 0°C = 32°F > 105]l3bﬂ
Given that our Q = —1000 ~%
min
K]
, (—1000 —) 1000]y (9.486 x 10~*BTU Ib,,
= min ( ) 1922
(53 BTU 105 BTU) 1K] 1] min
o, o,

B)_Analysis with 80% Efficiency Compressor

Set an entropy balance on the reversible compressor

d(M§)= M Sin — MoyeS +9+S
dt inYin outout T gen

Cancelling terms

A~

Sin = gout
From pressure enthalpy diagram:

Sin™> Saturated vapor R-422A at 32°F - 0.222 _IETI:’]F

BTU
b, °F

Sin = Sour = 0.222

Set an energy balance around the reversible compressor

Um(o+ v + gh
dt 2 " 8
2 2
e i Vin . Ty Vout F A :
= Myp (Hin + 7 + ghin> — Moyt (Hout + T + ghout> + Ws + Wgc +Q
Cancelling terms
0= ri’lin(ﬁin) - ri’lout(ﬁout) + WS

Wy i
- = t — 0
mn ou in

Find enthalpies from diagram

Hin~> Saturated vapor R-422A at 32°F > 105-—
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Following the line of constant entropy from H;,, (recall that S;, = S, ) until we reach a
pressure of about 198 psi, we find

| BTU
Hout9 lzzm
Ws 1298TY s BTU _ . BTU
m Ib,, b,  lby,

_ Ws,reversible

ncompressor - W actual
)

Ws,reversible

Ws,actual =
compressor
17 BTU
Ws,actual — lbm = 21.25 BTU
m 0.80 “ b
W, _ (19 2 lbm) (21 25 BTU) _ 408 22U
sactual = "~ min b,/ min

Analysis with 70% Efficiency Compressor

Reversible work is still 17 BTU/Ib,, but here:

Ws,reversible

Ws,actual =
compressor
17 BTU
Ws,actual — lbm = 24.30 BTU
m 0.70 by,

W, = (19 2 lbm) (24 3 BTU) =467 BTU
sactual = " min b,/ min

C)
C.0.P.= &
Ws
For both compressors
. (1000 K] )(1000]> 9.486 X 10~*BTU _ 9486 BTU
Qe = min/ \ 1kJ 1] 777 min
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For 80% Efficient Compressor

948.6 B1U

C.0.P.= —_min _ 5 33
408 BTY
min

For 70% Efficient Compressor

948.6 B1Y

C.0.p.=— 10 _ 5 o3
467319
min
D) The difference in prices between the two compressors is $5000. Since electricity is
$0.1/kWhr, the more expensive compressor would have to save 50,000 kWhr of

electricity to be cost effective.

Convert power for both compressors into kW:

For 80%
(408BTU>< 1] )<1min) 1w ( 1 kW >—717kW
min/ \9.486 x 10~#BTU/\60sec/ \ ; ] J\1000wW/ ~ "~
S
For 70%
(467BTU>< 1] )<1min) 1w ( 1 kW >—820kW
min/ \9.486 x 10~#BTU/\60sec/ \ ; ] J\1000 W/ ~ ™™

S

The two cycles provide the same amount of energy but the 70% efficient compressor uses
10.3 more kW.

(50,000 kWhr) (1 day

103kw /\22 hr) = 202 days

The more efficient compressor “pays for itself” in less than a year.
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5-20) You are designing a Rankine heat engine, using water as the working fluid, which
must produce 10,000 kJ/min of NET shaft work. Heat will be obtained from a high-
temperature reservoir at T=200°C and will be emitted to a low-temperature reservoir at
T=25°C. The turbine efficiency is 75%, and there are no restrictions on the temperature,
pressure or quality of the fluid leaving the turbine. Your job is to design the most cost-
effective Rankine engine possible, accounting for the costs of the heat exchangers and the
cost of the heat itself.

The boiler can be designed to operate at T=190, T=185 or T=180°C, and the condenser
can be designed to operate at T=35°C or T=40°C. Costs of these heat exchangers can be
determined from the formulas in the table below. Notice that the cost of the heat
exchanger goes up as the heat duty goes up, and the cost of the heat exchanger goes down
as the AT between the heat reservoir and the fluid being boiled or condensed increases.

Exchanger Operating Temp (°C) Formula

Boiler 180 C = 10000 +Q
Boiler 185 C =12000 +1.5Q
Boiler 190 C = 15000 +2Q
Condenser 35 C =10000 +1.5Q
Condenser 40 C =7000 +Q

In all formulas C represents the cost in dollars and Q represents the heat addition in
kJ/min.

The cost of the heat added to the boiler is $15/GJ. You can assume the heat removed in
the condenser has neither cost nor value. You can also assume that the heat engine will
be operating 24 hours per day, 350 days per year.

A) For each of the six possible Rankine cycles, determine Qy, Qc, the cost of the two
heat exchangers, and the yearly cost of the heat.

B) Recommend which variation of the Rankine heat engine should be used if it’s
expected to be in service for 5 years.

For all cases: We want the maximum pressure entering the turbine, so we will assume
that the vapor leaving the boiler is saturated vapor in all cases. Similarly we will, as
usual in the Rankine cycle, assume the liquid leaving the condenser is saturated.

A) Case 1: Boiler at 180°C — Condenser at 35°C
Set up an entropy balance around the reversible turbine

d(Mg)z MinSin — MoueS +9+S
dt m+<in outout T gen
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Cancelling terms

Sin = Sout

Find entropy (saturated vapor at 180°C)
Sin = Sour™> 6.584 -

in — Yout . kg_K
At 35°C:

$L =0.5051 L and §V = 8.3517 L
' kgK ' kgK

gout =(1- qrev)gL + Qrevgv
Jrev = 0.775

Set up an energy balance around the reversible turbine
2

d MU+ v + gh
dt 2 T8
2
. | Vin . 3 Vout j i :
= My I—Iin + 7 + ghin — Moyt Hout + + ghout + WS + WEC + Q

2

Cancelling terms

Find enthalpies

A, > 35°C and g=0.775 > 2019.811(—;
H;,~> Saturated Steam at 180°C 92777.211:—:g

Wi k k «
S:rev — 2019.8—] — 2777_2_] = —757.45—]
T kg kg kg

Ws,actual

lturblne ‘A’

Ws,actual = Ws,reversible X Nturbine

K] N
Ws,actual = —757.451{—g x 0.75 = —568.11(—g
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Set up an energy balance around the actual turbine

d o+ S+ g
dt 2 "B
2
Vin . ~ Vgut . . .
- mln (Hln +— + ghm) — Moyt (Hout + 2 + ghout) + WS + WEC + Q

Cancelling terms
ﬁout = V.VS + ﬁin

Hout = 5681k]+27772k]—22091k]
out — ' kg . kg_ . kg

Set up an energy balance around the condenser

alr(or T o)

V2 2
= Mjp (Hln +—+ gh1n> — Mgyt (Hout +—

2 =+ ghout> + Ws + Wge + Q

Cancelling terms

Q_~ =
— = Hyut — H;j
Ih out mn
Find enthalpies

H;,~> Found previously > 2209.111:—;
H,yue > Saturated liquid water at 35°C > 146.63{‘—;

Q. K] K] K]
- = 146. 6kg 2209. 1kg = —2062. skg

Set an energy balance around the pump

d M ﬁ+v2+ h
dt 2 8
2

2
Vin X t . . .
- mln (Hln +—= + gh1n> — Mgyt (Hout + ozu + ghout> + WS + WEC + Q
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Cancelling terms

. Wy
Hout = Hip + E

Considering liquid water incompressible, we will treat V as a constant
V.Vs,pump = J. VdP =~ V(Pout - l)in)

. m3 k
W, = 0.001006 — (10.03 bar — 0.0563bar) = 1002
kg kg

Find H,,. of pump by plugging W, back into the pump energy balance.

3 —1466k]+1k]—1476k]
out — . kg kg_ . kg

Set an energy balance around the boiler

d MU+ v + gh
dt 2 "B
2 2
. 3 | Vin . 3 | Vout A A o
= My I—Iin + 7 + ghin — Moyt Hout + T + ghout + WS + WEC + Q

Cancelling terms

W_ o -

m - I'lout Hin

Qu kJ Kk kJ
= 2777.2 kg 147.6 kg = 2629.6 kg

A7Pump Arturbine A7net
WP g W

m m m
Whet k] K]
=1—-— d1—
m kg >68 kg
Arnet k
= 56719
m kg

Must have a Wret of —10000 —2-
min

K]
—10000 —— K
h = ( “12]‘“) = 17.63—‘_g
(—567.1k—) min
g
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: ' k k k
Oy = By = (2629.6 —]) (17.63 —_g) _ 463735
m kg min min

. ' k k k
0c = L = (—2062.5—]) (17.63 —_g) — 363730
m kg min min

Boiler Cost - T=180°C

C = 10000 + (46,373) = $56,373
Condenser Cost - T=35°C

C = 10000 + 1.5(36,373) = $64,560

Heat Cost
(46 370 K] )( 1G] ) <60min) (24hr) ( 350day> _ 23370 GJ
" “min/\106kJ/ \ hr day year / 77" year
GJ $15
(23,370 —) —— ] =350,600
year/ \ G] year
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Analogous calculations are completed for each of the six combinations of condenser and
boiler temperature. The results are summarized:

1 2 3 4 5 6
Boiler T 180 185 190 180 185 190
(°C)
Condenser 35 35 35 40 40 40
T (°C)
Ws,net/M -567.1 -579.3 -591.2 -544.4 -556.8 -569.8
(kJ/kg)
Qn/M 2629.6 2633.8 2637.7 2608.8 2613.0 2616.9
(kJ/kg)
Qc/M -2062.5 -2054.5 —2046.5 -2064.3 -2056.1 —-2048.0
(kJ/kg)
M 17.63 17.26 16.92 18.37 17.96 17.58
(kg/min)
Qn 46,370 45,466 44,618 47,916 46,926 46,002
(kJ/min)
Qc 36,362 35,466 34,618 37,916 36,926 36,002
(kJ/min)

Boiler Cost | $56,400 $80,200 $104,200 $58,900 $82,400 $107,000

Condenser $64,600 $63,200 $61,900 $44,900 $43,900 $43,000
Cost

Energy $350,600 $343,700 $337,300 $362,200 $354,800 $347,800
cost per

year

TOTAL 1,874,000 1,861,900 1,852,600 1,914,800 1,900,300 1,889,000
COST:

Both heat
exchangers
plus 5 yrs
of heat (3)

Over a 5 year period, it is cost effective to use the most expensive pair of heat
exchangers- the boiler operating at 190°C and the condenser operating at 35°C.
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